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P" =1/2(P** +P°)

_ IArg Osia S
P" =1/2(1.8+9.0)
P = 54 |
P" =54
: His: (pivgll®
P" =1/2(P** +P*°)
P" =1/2(1.8 +9.2)
=5.5 |
P" =55
| : Lys: ¢ nll
P" =1/2(P** +P*°)
P" =1/2(2.2+9.2)
P" =5.7 |
P" =5.7
L Tyr: ¢n)spill
P" =1/2(P** +P*)
P" =1/2(2.2 +9.1)
P" =5.65 |
P" =5.65
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M1 =5(MC)+2(MO) +10(MH) +1(MN)
M1=5(12) +2(16) +10(1)+1(14)

M1= 116 g/mol




L (2) passl®

M2 =3 (MC)+3 (MO) +7 (MH) +1(MN)

M2 = 105g/mol
(3) amalt
M3 =3 (MC)+2(MOQO) +7(MH) +1(MN)
M3 =89 g/mol
(4) saesll*

M4 = 2(MC)+2(MO) +5 (MH) +1(MN)

M4 =75 g/mol
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M=50*M1 +25* M2+150*M3 +200*M4
=50*116 + 25 *105 +150* 89 +200 *75
= 63800 + 2625+ 13350 + 15000

M = 94776g/mol =94.776 Kg/mol
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100 (1+4) POLYMERE + 199H,0
100(1) +100(4) 1 4 1 4
M=100* M1 + 100 * M4 - 199 *M(H20)

=100* 116 + 100*75 -199 * 18

=11600 + 7500 — 3582

= 83518 g/mol

v

M = 83518 g/mol




